® SR Ty £n
Lo it £% 0
;;v’.sé?’" PZE o, 29 w  EHD
Fa E] X8 s
At L
gu 2] ‘é% Eod 2,
' . , 10 g <25 o0
Fiber-Classic. & Smooth-Star. G 181 5 558 ge
zq&gﬁg e 2o@ gg
Ayhbw e & o~ KR
o x2 ¥
K] zZ48 Su
g § .2 4°
Y 50
37.75' MAX O.A. & AR ¥
FRAME WIDTH 2 § o
GLAZED FIBERGLASS SINGLE DOO P R g
. R § [ o
. =)
in a COMPOSITE FRAME -
=
INSWING /OUTSWING / o9
"IMPACT" _ S| SR
g 0 o |s o8
s : 2 <t |5 <6
<2 3B £3 |2 G
é (:g <§( e X (] o |9 Iz
ST 9 51 ¢ 23
NI QY © 2 ol =4
EVALUATED FOR USE IN THE STATE OF TEXAS oY = w § Bl &
The Fiberglass Door system described herein complies with the 2018 International é < 0. o
Residential Code (IRC), Sections R301 & Ré09 and the 2018 International Building Code - , >
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject fo the following conditions: 7
1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.
2. This system has been tested and evaluated as a large missile impact protective 4
system for installation in areas that require wind borne debris protection. This 2
product meets missile level "D" as defined in ASTM E 1996. %
3. Allowable design pressure requirements must be equal to or less than the design o
pressure rating shown in the design pressure chart, sheet 1 of this drawing. o
4. Conditions not covered by this drawing are subject to further engineering analysis.
5. Fiber-Classic and Smooth-Star Door & Sidelite panels require the use of "J" part
numbers. These door panels must be stained or painted within six months of
installation. L
'....
TABLE OF CONTENTS S
SHEET# | DESCRIPTION DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF) =
1 Typical Elevations, Design Pressures & General Notes CONFIGURATION INSWING OUTSWING >
2 Doorfanel Defdly POSITIVE | NEGATIVE | POSITIVE | NEGATIVE DNt _5/24/21
4 Horizontal & Vertical Cross Sections {2X Buck) SAE:  N.T.S.
5 Vertical Cross Sections {Thresholds) X +50.0 -55.0 +50.0 -50.0 DWG. BY: RW
é Buck & Frame Anchoring CHK. BY: LFS
7 ngdwcre Qefoils DRAWING NO.:
8 Bill of Materials & Components TX—5206
SHEET _1 oF _8

Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - ID XXXX - 6'8 GLZ FG Imp Comp Jambs (TX 5206-5208)\C - Drawings\TX-5206-5208.dwg

© 2021 R.W. BUILDING CONSULTANTS ING.



- 12"~ | 238" : 3
| NOTE: BOOK, HYBRID & U1 DOORS e i
MAY EACH BE FABRICATED AS WOOD T8, o
OR COMPOSITE EDGE DOORS. ; s> 8 3P
: U gl 9y
b4 '™ o = 0N bk
H )
: P 0 - %
| s TR
; : er Sxfp 90
} I 389 8%
HINGE STILE LOCK BLOCK LATCH STILE TOP RAIL TOP RAIL LW I . 295 'gg
1 SRR [
(ENGINEERED WOOD) ORIZONTAL CROSS SECTION 12.5" LONG {WOOD) (ENG. WOOD) (COMPOSITE) (COMP./ENG. WOOD) * @ . g R
\.2_/ WOOD EDGE DOOR PANEL L °5
o =0 g
04" —] e 1.88" ——}=-1.2" = R
=12~ INTERIOR r.‘ 0.4" 2 § -
P o 28
| F ' o : : F
N e - [ : : g gg 8
| ] | / | FOAM CO{ R E FOAM CORE || ©
‘ i \ / A COMPOSITE <~ T~
COMPOSITE HINGESTILE EXTERIOR LOCK BLOCK LATCH STILE . | 2
(ENG. WOOD) /"2°\ HORIZONTAL CROSS SECTION 12.5'LONG (WOOD)  (ENG. WOOD) §§ ks
\2_/ COMPOSITE EDGE DOOR PANEL T |5
=2 |al =2
36" MAX. DOOR _ 3581"MAX.DOOR ____ 35.81" MAX. DOOR Ea |3 £
PANEL WIDTH PANEL WIDTH PANEL WIDTH Yoyt Eé S
5 © gl 8
2 2 2 = e
& =
(2 EXTERIOR INTERIOR EXTERIOR IN 5
// 7 // =z \y // AV EALENER W INIERRJR LOILRIMR W INTERIOR
Vi Vi Y/
T // b // T / /
O 5 5
& B . T . %
%I z))' %" wn % [7e) £ LIRS 5
2 | g | g | e 2
% X (el & X etz X |e* T 2
> T v 1 > T FIBERGLASS SKIN oy FIBERGLASS SKIN e
%: <§( % AT AT
z / = / : / ¥ S
/ / / ]
S
BOTTOM RAIL—" [ BOTIOM RAIL—"|[ o 5,/24/21
(COMP.) - (COMP.) -
ScAE:  N.T.S.
<] <] 4 e ] 7" e Y DWG. BY: RW
40 ) FIBERGLASS DOOR PANEL 41) FIBERGLASS DOOR PANEL 42 FIBERGLASS DOOR PANEL cHc. 8. LFS
BOOK DOOR HYBRID DOOR UTDOOR / 3"\ VERTICAL CROSS SECTION /4 \ VERTICAL CROSS SECTION DRAVING NO.
FIBERGLASS SKIN: 0.073" MIN. THK. \_2_/ WOOD EDGE DOOR PANEL \_2_/ COMPOSITE EDGE DOOR PANEL TX-5206
FOAM CORE: POLYURETHANE -1.9 PCF MIN. SHEET 2 OF 8

Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - ID XXXX - 6'8 GLZ FG Imp Comp Jambs (TX 5206-5208\\C - Drawings\TX-5206-5208.dwg

© 2021 R.W. BuiLDING CONSULTANTS INC.



"ON| SANVLTINENDOD SNICTHNE "M'y L202 @)

2S8LL—4 # NOLVMLSIORY 40 3LVOLLLNIO SNOISIATY
SYFINIONI IWNOISSAA0¥d 40 Quvod Svxal SNOLYATT3 Ad 31vd [ON|~ " 8_
LBLE'BSO'ELE FON 8uoud : : <
G6GEC ot oion 05 Xo8 o \Eg@ TXT@NISSY 90 Lavd W S e
‘ONI ‘SINVAINSNOD ONIQING ~N g | 3_
4000 SSV19¥34ld Ol s Ele X
CZLPOL# ‘I'd SVXAL NAL—YAHIHL g m ¢lx|E &
qd IPIMYOS "4 uopul :Ag pedodeid sjuswnooq 119NA0dd 213 Z £ W M
®
*
I l
)| —

SIGNATURE SERIES

F51

DEADBOLT:  SIGNATURE SERIES (980)

DEADBOLT: B&0

KNOB:
KNOB:

Fiber-Classic/Smooth-Star Door Panel Options
Products approved include all embossed and recessed panel doors.

SCHLAGE
KWIKSET

Similar glazed panel configurations are allowed
Panels shown are for illustration and are representative only.

= LY |

SEE HARDWARE
CHART

(3
&/

J
€
©
(3
\SNE/

Bmpg0zs-9025-X L\sBuimeid - D\(8025-902S X1) squer dwod dw D4 Z19 8.9 - XXXX Al - IAL\sul J0 3daq sexaL - S\LNINVINYId NIl BULIBY J\SIUBIDNZ



TON| SANVLTINSNGY 9aNIaing "Mm'sd Lzng [@)]

Zg8Ll—4 # NoOI SNOISIAZY
SHIAANIONI 4<zo_wmwwwwwmumoow.«ﬁnm&wwwwk Qw@%‘ H&m\vf Wz&@.m%%.ﬂwwﬂmo A8 31vd FON

L616°6G9°CI8 I"ON 8uoyd :
G6SET 14 OSUIDA OSZ Xog .o.mé@v SATHWNESSY H0 Ldvd

*ONI “SINVLINSNOD 9NIgTNg
H00Q0 SSY19434i4
CTLYOL# "T'd SvXaL NAL-VNMIHL
‘A'd IPILYOS 4 uopuk :Ag pedpdald sjuswinosog 10N3a0¥d

RW
LFS

N.T.S.

TX—5206
SHEET _4 oF _8

oate: 5/24/21

CHK. BY:
DRAWING NO.:

SCALE:
DWG. BY:

Soemvor TG

P
jrd

- :.....:..:..i::..:::..«.:.&
7y

ﬁ

i

LOMNHDS &4 NOUONAT & o

B AR LA AL e AR RAARY 4 G
g z
o = £
" e gl A i
~F A
Bt w‘. o 2
\*x .o.w.ﬁ...' ~ )
N FJ AN = T
Nﬁ. 40 }.v.u\ % b
TP () o L _.X..
/. i
L ) N
o : o
R 3 ot -
. O 2
. w £
o [ ] 7
(] j&)]
7] m
—— e | 2
2 wdododa o Semne C AV
.oooonoooooaoc Ba vouonnoon 8]
2 I .noeaoooou ]S [l
o ceooaano 0. 0502020903
0050500050500 0059595950 A Qs
“cuoncwcwewowc” .......... 3
8052325250500 3e b=i><
Bag08090802050% 8 ~N m
305080305030 SENER d N
Qacagoaeazsel  peaseaesesese o) M o
N Z.E
m— | W"
&iza
Q|25
Ky
Lis0
mw
2 Wy (3)
: o S
M o o
T £ o
0060000000000, -
\ 0080090000008
©00000000000:
930000006000
G8gceodnadons o
005600008000
SRR a0 bR oAk O
0086000000000
Soucdsnsacadas ot
So R 000600550000 o7
60T009000000.
©000C0000000 il —
SB8nsas0e0 00k — N —
900000000000 o]
0808800000000 Hm” A“v —
EGEOOOCR060 = = E
98000000AE000 — =
soncooos! Woar 71
BOOVOUO 20 C
OO0y o ~ o
05000 [ &
500000
0000000 S -
0000060
6008000
56500000 (7] W
Seenacor P4 b=
e o eae A““v RV
000008 O
000000 p
650000 ael D
0060600
0000000 L a W
0006606 > hlh Q
ARBOnnE > &
900000 m— 1N
00000 n
005000 A g
g — 000000, o))
b -1 b el h = 080800 W
LCLOCLY A v &
o Oea s =
P N 5000000 n W M
[- 4
! wios
>|50
w
m
S = Laad b
< @ [s°4
I L
< v
= i
& @
.
o
<
i o o
O @)
o az
LLl =
2 /- 5
- 18]

000

oDobacoatg 000,
jedegegefed 2000058599
2500 ooncunooo woncnona of
¥ uooooo 630 oooc
03080309020802 uocoo nauaoaovooooo
0903080! 3 o
83080802080 08 eeonooo 2585230000050593 #5020 93930
waooooo ooncccnoo 2000nanasaRose s Jo0oo N Rd0n8ad
585! 0 000085828082000000208 fade
cowown“ So8000a03a0230308 §a00 0202030]
2309030, 2302000/ 0308 050!

/~ 2"\ HORIZONTAL CROSS SECTION
w Shownw/2XBuck
Outswing shown (Inswing similar)

DRYWALL . 0.15" C-SINK
\ %
J 23
EXT. SHEATHING
29

Bmp'g0zs-9025-X1\sBuimeld - D\(8025-902s X1) squier dwod dw| 94 719 8.9 - XXXX 4l - ia1\suj jo 1daq sexa) - g\LNINVINYId NiL eIy \sIuslD\Z



Nofes:

1. Sill tem #32 is aftached fo jambs w/ (3) #8 X 2-1/2" pfh screws at each end.
Sill tem #33 is attached to jombs w/ (2] #8 X 2-1/2" pfh screws at each end.
Sill ttem #34 is attached fo jambs utilizing (2) #10 X 2" pph SMS at each end.

INTERIOR B\ EXTERIOR

@@ o
il @

SEENOTE1
\

71"\ VERTICAL CROSS SECTION

W Inswing Sill

\\

OOC o H @

SEENOTE 1

-----

7“2\ VERTICAL CROSS SECTION

\y Outswing Sill

A\

owa— )
@

SEENOTE 1

I S

7“3\ VERTICAL CROSS SECTION

W Public Access Sill

Uy 5

seanas

ey

YNDON F. SCHMIDT

o
P
.
S e
1

PN
e
TR

Lj
0N
£ 0
Yo 4
Ex 5
I
dy g8 8
.o -
uw Jo U
- o
2 E oo 2
2 =22 ©
€ fzmo 2
) 2352 0
2>k 0
n”2 o
Z0m G
5 8R. &
) on s 5
O XZ
k] [ L
® Zmy, O
o o ¢
a 2506 2
® RBod %
o 0, o
o ;:E 0
2
-
ol
3 =
0
o

VERTICAL CROSS
SECTIONS (THRESHOLDS)

THERMA~-TRU
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

NOJ DATE

oATE: 5/24/21

scae:  N.T.S.

DWS. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5206

SHEET _5 oF _8

Z\Clients\Therma Tru PERMANENT\B - Texas Dept of ins\TD} - ID XXXX - 6'8 GLZ FG Imp Comp Jambs (TX 5206-5208)\C - Drawings\TX-5206-5208.dwg

CERTIFICATE OF REGISTRATION # F-11852

REVISIONS

© 2021 R.W. BUILDING CONSULTANTS INC.




TONG SINVLTHISNOD ONIgHng

‘MM LZOZ Q)

=
Ponnd
et
d

HEAD & JAMBS
(TYP.)

el
fuswone.
==

FRAME
N

FRAME ANCHORING

258l L-4 # NOLLVMLSIOEYN 40 ILVOLALLN3D SNOISIASY T ToN
SHIINIONT YNOISSAHOHd 40 QMVOS SvxX3aL ONIHOHONY IWVN4 % Mong Ag m alxle < 8_
LELE'6SY'CLE "ON suoyd : 4 u
G6GLE 14 OOMIDA 0£Z Xog "O'd \k\w@. ATBWISSY d0 Ldvd % M P :2u S
"ONI ‘SINVLINSNOD ONIaTing ™ L E 6_
¥00a SSY19438ld Ol 1B Elg B
CZIYOL# "T'd SVXAL NHL—YWHIHL i w 6l v W &
Td WPIYyog 4 uopukl 1Ag peJdodald sjuswnoog 10NnAaoHd M g W m = %
=
<
o
fa)
D —
3l
o=
=
o
=
<C
-
| [ — — (dALl)"D'O
("dAL) .9 YW 1

BMp'8025-9026-XL\sButmeld - D\(8025-9025 XL) squer dwod dwi 54 719 8.9 - XXXX Al - IaL\su} 4o 1daq sexa] - S\LNINVINYId NiL BULRYI\SUSID\Z



TONG SANVLAINSNGO aNiagTing

M L1202

Z68LL—4 # NOUVAUISIOEY 40 3LvOldyaD
SHUIIANIONT WNOISS340¥d 40 Qav0o8 SvX3L

Zele'6g9'clg

GBSLE T1d ODWIPA 0€Z

*ONI ‘SINVIINSNOD ONIaTNg

SZIPOL# "I'd SYXAL
A'd Wpiwysg "4 uopuk

:Ag

SNOISIATY

SIS0 JHYMAHVYH

Ad

3ivd_JON

‘ATENISSY d0 Ldvd

ON suoyd

paindeid sSjuswInsog

4000 SSY1934gl4

NAL—-VNMIHL

1L0Naosd

DATE: 5/24/21
scale:  N.T.S.

DWG. BY:

RW
LFS

CHK. BY:
DRAWING NO.:

TX-5206
sHEer _7 oF _ 8

sersanes

w ﬁzow 4 zomz;
x..

s
sasuppenceed wosane

‘.

NN V\\W\ :-.o.:‘ \\W.V'

Pus
e
-~

gWVT 40
dOl WO .5Z1° 1L

gWVT 40

JOOJ AIgAH/

(dAL) .52 62
J004J 3004

dOL WO .5T°L L

SEE HINGE DETAIL

('dAL) .ST'6Z

in

i

\

(TYP.)

(S'1¥) .88y

:mml.l'

f

HINGE JAMB

?

N

LATCH & DEADBOLT DETAIL

Kwikset

DETAIL

SEELATCH—

& DEADBOLT

Security Sub
Strike Plate

21

STRIKE JAMB
Latch and Deadbolt

22

A\

i)

e

HINGE DETAIL

9-‘

LATCH & DEADBOLT DETAIL

\
\

Schioge

LATCH & DEADBOLT STRIKE DETAILS

Outswing

HINGE DETAIL
Inswing

Bmp'g025-9025-X1\sBumel - D\(8025-9025 XL) squer dwod dwi D4 719 8,9 - XXX Al - [aL\su] 40 1daq sexa] - G\LNINVINYId NiL BWIBY1\SIUSD\Z



ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - ID XXXX - 6'8 GLZ FG Imp Comp Jambs (TX 5206-5208)\C - Drawings\TX-5206-5208.dwg

BILL OF MATERIALS
ITEM # DESCRIPTION MATERIAL
A | 2X FRAMING [5G >= 0.42) WOOD
C | 1/4 MAX. SHIM SPACE -
F | #10X 2" PFH WOOD SCREW STEEL
L | #10X 2-1/2" PFH WOOD SCREW [1.15" MIN. EMBEDMENT) STEEL
1| COMPOSITE JAMB COMP
7 | WEATHERSTRIP FOAM
8 | DOOR SWEEP VINYL
9 | SWEEP [USE w/ PUBLIC ACCESS THRESHOLD) VINYL
20 | #8 X 2-1/2" PFH WOOD SCREW STEEL
21 | #12 X 2-1/2" PFH WOOD SCREW STEEL
22 | #8 X 3/4" PFH WOOD SCREW STEEL
23 | #9 X 3/4" PFH WOOD SCREW STEEL
24 | #9 X 1" PFH WOOD SCREW STEEL
26 | #8 X 5/8" PFH WOOD SCREW STEEL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL
28A | DEADBOLT SUB-STRIKE PLATE STEEL
29 | 4 X 4 HINGE STEEL
32 | INSWING THRESHOLD ALUM/COMP
33| OUTSWING THRESHOLD ALUM/COMP
34 | PUBLIC ACCESS THRESHOLD ALUM
40 | DOOR PANEL (BOOK) ;
41 | DOOR PANEL (HYBRID) -
42 | DOOR PANEL (UT) .

0.75"

4.5¢"

’*w»r-— 1.25"

212"

@ COMPOSITE JAMB

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

4.56"

}-—-— 1.5" —m]

32 INSWING THRESHOLD

Adjustable Composite Sill

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-11852

33 OUTSWING THRESHOLD

Composite Sill

611

0.082"

in
®

S . SWEEP

?

I-‘—‘ 2.06" —=
< : )SWEEP

el 2]
S|
o] =Z
s i
Loy fo- ':(%
2 |4 =g
S (B T =
EO = O
& |4 OO0
Eu |2
@ |2 I
55 |g ®
2 o
S E
& &
>.
[ie)
1]
pd
O
]
o
Lu
<€
o
o
Z
DATE: 5,/24/21
SCALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX—-5206

shEer 8 oF 8

© 2021 R.W. BUILDING BONSULTANTS INC.



